FLANGE
CAST DUCTILE
IRON LEG

(FASTE!

RPL SLAT END VIEW

RA“ALL EDGES

1/4°-20 S8, CARRIAGE BOLT

1/4" SS. WASHER

1/4°-20 SS. NYLON INSERT
LOCK NUT

DETAIL G

NER SET x 68 ct)

==

137 ELIPSE

SECTION A-A

SCALE 1:3

2’ 5 19’ 7 2
11 — __ L 1]
NF N 7
- ]
Y Pl Y
L ]
27" - —
(- ]
- "]
[ =21
FRONT ELEVATION
%.

3 Lr FLANGE TYP.

3%

b

@ 1 37ELIPSE

SECTION B-B

SCALE 1:3

5§’

"4%’ANCHER CENTER TO CENTER

27

CLARITY.

NL
IRAWING

-EACH
FASTS
HARD!

IN FRONT ELEVATION.

Y SOME HARDWARE SHOWN FOR

0 THE 17 RPL_SLATS ARE T BE
ENED WITH 4 SETS OF SS,
ROWARE, PATTERNED AS DETAILED

143 INSIE
ANCHIR CENTERS

23 LEs
ANCHR CENTERS

PLAN VIEW

2%’ MAX. SPACING (VARIES)

RPL SLATS x 7
RECYCLED PLASTIC LUMBER:

1B N

21

1" ELIPSE

SECTION C-C

SCALE 1:3

3 L FLANGE TYP.,
s, —

¥ HOLE
1.
&Y
& i
N[
13 ELPSE 3 ELIPSE
SECTION E-F
REAR FOOT DETALL
SCALE 1+3
COLOR

RPL  WEATHERED WOOD
CI+ HOT DIP GALVANIZE

S,
&
0§
1.
&
SECTION D-D
SCALE 1:3

3

¥
i

liiA

1§+ Eupse

L FLANGE TYP.

SECTION F-F
FRONT FOOT DETALL
SCALE 1:3

MATERIALS :
CHAISE LOUNGE LEGS (2 REQUIREDX
CHAISE LOUNGE SLATS (17 REQUIREDX:
FASTENERS (68 SETS REQUIREDX
1 - CARRIAGE BOLT 1/4"-20 x 2-1/4"
1 - FLAT WASHER 1/4"
1 - VANDAL RESISTANT

STAINLESS STEEL

)

CAST DUCTILE IRON (CD
RECYCLED PLASTIC LUMBER (RPL)

1 SET = 3 PIECES (1 EACH OFX

STAINLESS STEEL

NYLON INSERT LOCK NUT - 1/4"-20:

STAINLESS STEEL

INOTE-]
~CAST, IRON LEGS ARE DRAFTED AT A MINIMU

-BOTT0M OF EACH LEG TO BE GROUND_FLAT,
-WHEN USED, ANCHOR BOLTS ARE TO BE
INSTALLED IN EACH FOOT OF EACH LEG.

KENNETH LYNCH
& SONS
114 WILLENBROCK RD.
OXFORD, CT 06478
PH: 203-264-2831
INFO@KLYNCHANDSONS.COM

6765 1964 WORLDS FAIR CHAISE LOUNGE

VER. 41 | DATE 1/18/2024 | DRATN AMB

OVERALL DIM’s 55" L x 25” W x 31" H

CAST DUCTILE JRON & RECYCLED PLASTIC SLATS

DO NOT SCALE DWG.

DWG. NO. #6765-RPL SHEET 1 OF 1




